Friday 5th March – Lots of lollies
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LI: TﬁmMeMMJmMMMwWAL

I can applay my knowledge of fockors and
mulliples Ao soive a problem.

[ can make links helween sharing,
AJANMMMIAHMJWM/W

I can record my work
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We do

How many loMies are in the baq?
We know that the answer has
Ao be am  mumber as the

AoMies are shared between 2
children (even mumber) with

ome Aoy Aeft oner.

Lets mse a 100-square to help
s work Mhrough Ahis problem
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We do...

Lets begin by marking off the
first mumber () om the 100-
square... BUT there are Awo
chiddren and ome Aoy Aeft onver
50 Ahere cant be just ome Aoy
in the bag!
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We do...

Lets try the mext  mumber ()
om the 100-square... That monld

work as Francis and Rishi woudd
qet 1 Loy and there wondd be 1

Aoay Aeft oner.

BUT what about their friends:
KAshan, H/o/{,e/té and Paul who haove
just joined them? Thats 5 children
and oy 3 AoMies!
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We

Lets keep qoing marking off the
~ mumbers systematically on
Ahe 100-square.

The mext mumber As  om the
100-square.

Would Ahis work?

No, because each of the 5
chiddren would get 1 Aoy and
Ahis time there are 2 AoMies Aeft

ONLeT.
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We do...
The mext  mumber is om the 100-square.

Wonuldd this mwork? Pryr2f1s) 7‘ iiiiii

Yes! Success, because each of the
5 children would qet 1 Loy and
there are 2 AoMies left onver. This
makes a totad of AoMies in the

bag.
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You do...
Comtinue working says
mm%z/kw)omw/tcmmxkaﬂ
apour findings om the 100-square:
= odd numbers
= mhen there are two
AoAies Aeft oner
What is the largest nmumber of Aodies
Ahat condd be shared between 5
children equally with 2 Aeft owver in

Ahe bag? What potterns have apon
Adisconvered?
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Anve am M/p/{uma/bbom /fO/r mhat an odd
number As?

Give an M/p/{uma/bbom /fO/r mhat an enven
number As?
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The
ProhbAlem

Lots of Lollies

Frances and Rishi were given a bag of lollies.

They shared them out evenly and had one left over.
Just as they had finished sharing them their friends Kishan, Hayley and Paul came
along. They wanted some lollies too so the children shared them out again between
all of them. This time they had two lollies left over.

How many lollies could there have been in the bag?




